Mon, Jul 7, 2015 MATH 350 Quiz 8

Name: (print) Qéa/—/m S .

Each problem is worth 2 points. Show all your work.

1. If h(z) = fi(z) + fo(z) for z € [a,b] show that
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9. Suppose that f and g are positive and continuous on the interval [a, b]. Prove that there

is a number £ € [a, b] such that
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3. (a) Suppose that f is continuous on [a,b]. Show that all upper and lower Darboux sums

are Riemann sums.
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(b) Give an example of a bounded function defined on [a, b] for which a Darboux sum is M:= 645&')

not a Riemann sum.
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